4

0.5

Q.5

2T I T -

Time Tl Haogus

Totul M, of Page: 3

MT/D11 : 8905

M. Teeh 1.1 : Digital Communication Systems

Mg inum Marks - §3

Note:-  Attemptany FIVE quesliony atlaast OME question (roem saeh Lnit.

Q.2

2.3

BIS

UMNIT-1

Constder a band pass signal z(ty whoss foorer
trausform s & (F} and s centered ae frequency + i
with laiular wave form. Hepresent it in canonical
form acd also show in-phese and gquadrature
COHNPOICITE. 12

Represent w 16-ary PEK signal with 8 slendard
aquation and also estimats its band width efficizney,
alsa show the phase of each companant 12

UNIT - 11

What is sddidve filtering. What is the bir ¢fror mfe n
casc of {1) Coberent PSE (i} coherent binay FSE (i)
Hinary DPSE,

1 Comil

Alzo give the difference belwsen coceelation and
camvaltion, 12

a)

aj

Mame the standard characteristics of a digital
conmumunication channel. Give wwo modes of
synchronizaion. i}

Flow can you aecover e phase of a earmier,
signal piven is 2{n) wetual phase ol signal 58 &
estinated phose of the signal is @ , alzo find the
plase crrar, &

TUNIT-II1

Ineguye af DPSK, pgiven that bk = L{K14011
whal is the regultant phase. Uf final bit is zero
then phase i £ ond if final bit is 1 then phass is
o ]

What is ordho gonality B
Explain gram gomith priecess of octhaponalite

Wit is roatched fitter. Find the signal 1o noise mtis af
the mmc.h:(yﬁhea- whete he Sipnal ${) =4, 0<t=T.

and ulga fi

d the impulse vespanse of the Giller for the

same wavelonn. . 12

Q.7

R.E

UNIT - TV

Design o signel S(0) at the digical medem's input sach
that gach of itz sumples wken ot e catz of 6~ KHz,
matches one of (he M — 258 duweshald levels of the
comprasets, and the wanamitted sipnaly satisfy
Teyquists’ eritetion for zemg intersynhol terfecenca, 12

What i equalizatien Explain the differcnt secluigques of
squalization. Give the factors on which edaptive
eopualization pacfpcnanse depends. iz



